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Question Number : 1 Question Id : 9683553750 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Observation of the expression pattern of a protein in a tissue section using a fluorescence
MICTOSCOpE 15

5808 SFHEBR ad@rhol) Snwred™ EER aR2R LHTHe a0 Srdkod

Options :



An anatomical approach

- lelile) wr::‘ r'a'-'e_a E80

Experimental approach

(DB Xesto
2. ® [
Genetic approach
e DR
3. % S =
A combination of anatomical and experimental approach
©088 Vo=yed 8D (HTeHesES8
4. % N

Question Number : 2 Question Id : 9683553751 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Intestine is made up of cells from
38 e H008 (20 QB ook

Options :

Endoderm only
®odididn Lok S|

1. %

Endoderm and mesoderm

©0o&eS tisin BN e isn
2. ¢

Endoderm and ectoderm

&?oéae‘ﬁ;ﬁfm SoBE® ’*Déwzﬁaﬁw

3. %



Mesoderm only

SodrdrSdm o8 SR
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Question Number : 3 Question Id : 9683553752 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

How do human birth defects help developmental biologists?
S99 @é:gﬁ cho X0 Saren E:@{?ﬂ@% @'@3@& 3 D¥orr aNGrNGEoD.

Options:

They are useful for genetic counseling so that similar birth defects can be avoided in future

iy Qe o Aok e Xeolitom
1. ®

Birth defects help us identify the expression pattern of human genes

SRS ﬁré:;a: Lo w&*ééﬁ&zﬁm&

Birth defects are useful to develop animal models of human diseases

3 % S apthe RardnE eadd@rNowh @od Sy 5785

[dentification of the underlying mutations help us identify genes mvolved in human
development

SP8 0BT ad)ddde wlyde HBohes
4.9

Question Number : 4 Question Id : 9683553753 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Sickle cell anaemia is a good example for which one of the following?

2285 8 DI 308 Lod) s
Options :

Co domuinance

Incomplete dominance

SrSler)te v kvatel T3 e vy
2. % b= ¥ o

Pleiotrophy
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Epistatsis
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Question Number : 5 Question Id : 9683553754 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What does a frequency of recombination of 50% indicate?

D%t JoG@rad TPXDsn 50% w=dorbey SOQ Jrdidyod

Options :
The two genes are unlinked

Body 2 mﬁéﬁ 230759 &0
1.4



The genes are located on sex chromosomes
2y Hen Boho¥ (EDHFDoE® 08 Bokhe

Independent assortment is hindered
©oS85DE S0l SIgsTdw

All of the offspring have combinations of traits that match one of the two parents
SQXohe ofre Jirdro ¥OAK K088

Question Number : 6 Question Id : 9683553755 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Mosaic analysis is used to primarily study the:
Dot DFhee B (EPDE & BI0D $8:5908.

Options :
Spatial patterning of cells
Soddwe Doreddn 5&03?6 Xegeen

Anatomical focus of gene function

. 468 doms LonoFPHIN wdrDd O
2. - o

Anatomical focus of gene expression

£6%8 Qo=es 002080 eslop o@ a’)““‘”‘
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4. %



Gene-gene interactions
ﬁ&g“* m“é “"E::n:l* Lﬁﬁ;

Question Number : 7 Question Id : 9683553756 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Aneuploidy represents
wlrErand :"Cw::gﬁra ©ol

Options :

Increase or decrease in number of chromosomes

E° S PEDe Sogy rHe LBk Sriew
1.

Increase in multiple sets of chromosome
2508 Dogys® [EPRrFEDen 1BHE

Deletion of some parts of chromosome
(S o Goo) E°0& grifo E'Eéijéh

Addition of some parts of chromosome

L w EP3rHo% Bod rifdn osdsnmr I

Question Number : 8 Question Id : 9683553757 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Addition or deletion of bases causes which kind of mutation?
g 3’30@5 2% Soe érpea Do el ééﬁ}&&ﬂéﬁ@.}:

Options :
Transversion
vilaNe
[=¥]

Frameshift mutation

_: - 2 = = '\ "4\- - »
- BT e BdTren

Transition

269
3. %

Transcription

©DPBID
4. %

Question Number : 9 Question Id : 9683553758 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following chemical mutagen affects only replicating DNA?
& (8o TRE D EahR 68)B%Y (Perddn Sy DNA (858 abibod
Options :
Acridine dye

o883 3

Alkylating agent

T8 JonoHY BEIw
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Deaminating agent
& ISR 8%
3. %

Base analog

=58 FErrsm
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Question Number : 10 Question Id : 9683553759 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Sticky and thick mucus production is a symptom of

2w BT Do¥ VLR ZQH0 )Y e
Options :

Huntington disease
Fdoheos T8

Cystic fibrosis
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'
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Diabetes
Looasrdn

Haemophilia.
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Question Number : 11 Question Id : 9683553760 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Puffs or Balbiani rings in the salivary gland chromosome are the sites of ......

roao|fode BrRESes™ D)0 Heodire Hes é’BCS V%o

Options :
Protein synthesis
BrE% Yodhe

1.%
RNA synthesis
RNA SoZfie
2. ¢
DNA replication
DNA 858
3. %
DNA duplication
DNA &-1%é8%5es
4. % N

Question Number : 12 Question Id : 9683553761 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The point at which polytene chromosomes appear to be attached together is known as:
FOET EardFhe 4mRE 048 Yob Joth &‘%ﬁ
Options:
Centriole
20|&&rS



Centromere

o0
2. &

Chromomere

E*o&ocE
3. %

Chromocenter

B3 oed
4.+

Question Number : 13 Question Id : 9683553762 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Genes that are involved in turning on or off the transcription of a set of structural genes are
called

eXTS whihhd Sonodods akyer 27
Options :
Redundant genes

Wl et oL
SO D"n.éjé VDD

Regulatory genes

Qoo($S elyyen

Polymorphic genes

sTo8nE uséa_la'g,u



Operator genes.

Qoeee esonaden
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Question Number : 14 Question Id : 9683553763 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following disorder 1s also called the Royal disease?

& (Bod 308 T360 ochd 56 R L1 0ot

Options :
Colour blindness
Eﬁgocﬁé;aém

1. %

Haemophilia

SRS DT

Sickle cell anaemia

RESDE VDA

Alzheimer’s disease

058 =
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Question Number : 15 Question Id : 9683553764 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which larva exhibits intermediate form between cephalochordates and vertebrates

2B b HERbT S Moo Bws) vro
L

Options :

Tornaria

&“S&édﬁn

Tadpole
¢GRS

Ammocoete

SE R IES
3. i

Bipinnaria

BHaB0
4, % =

Question Number : 16 Question Id : 9683553765 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Just hatched ascidian tadpole is-

©REDS ¢rEDS orom DA Iwder BV Jrdiod.

Options :

Photopositive

ST EPORNICS @E&ﬂééﬁ

1. %



Geonegative
PBoE KodB 50

Photopositive and geonegative

SCo8ZVD SEHBGN b0 B EvEw
3. ¢

Photonegative and geopositive
eI EFOINIS ejd"fa’a:o 0B ForKpidned ©ifEin
4. %

Question Number : 17 Question Id : 9683553766 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Placoid scales are found in
Srorond  Brendoen 3 choh FPEBohsd

Options :

Paleontological fishes

5885 SomodE Then
1. %

Lung fishes

#2880 Iden
2. %

Bony fishes

e Dden
3.8 %

4.+



Cartilaginous fishes

=
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Question Number : 18 Question Id : 9683553767 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Lampreys are
oo(Der ©odr
Options :
Jawless fishes

BS%en 80 Jajen

Jawless primitive vertebrates
ke B (Dol SEZSTeen

Jawed mouth
Bi&en XOAS %

Fishes with a spherical mouth
S8 o8 SFED LOA% Then

Question Number : 19 Question Id : 9683553768 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The growth in male peacocks of long colourful tail feathers with numerous “eyespots™ is a
product of

Soff oD Gl ErEFH % S chooth ERBoth Lol H¥p Wibile TRE AEYK

Options :

Balanced polvmorphism

- Ve DTOEFDES

Diversifying selection

D& DS E
i 1| [= W
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Sexual selection

BohE RN
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3.¢¥

Ecological isolation

vTdn Jonoy DOEL
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Question Number : 20 Question Id : 9683553769 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The name of the chewing mouthparts in scorpions is

SBeo oD Sy BEDS L grrren

Options :
Chelicera
£ &=

2.



Chelipeds
£925

Pedipalps

&Sy
3. %

Claws

Swyoen
4. %

Question Number : 21 Question Id : 9683553770 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Beginning with the first appearance of each of the following, what is the correct sequence
for evolution of the amniotic egg, jaws, notochord, and tetrapod condition?

& [Eodd Xrtofs JBEY S0erd HOREFR), ool
Options:

Amniotic egg. notochord, jaws. tetrapod
BROIEETw, QRV0IIW, BJTe, ISa)Roen

1. %

Jaws.notochord.amniotic eggs. tetrapod
BBTe0, PRBoTHID, BeDErSe, S Ko

Notochord .jaws. tetrapod. amniotic eg

2g
%aléoéaiﬁ BN en, n‘ﬂ&“\é&@ ©e) S
3. ¢



Tetrapod. Jaws. notochord. amniotic egg

n Q)eoen, BIEe, YRJoTIW, BeYIIFE

Question Number : 22 Question Id : 9683553771 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The water vascular system in echinoderms 1s most like
JBS° Eéﬁ;{ﬂr Bho dDodd s (HiBe LB Eg‘i“ Sr808

—

Options :
A can opener
(S BBoHESHE S

A Fountain

2K ﬁ‘a@m

A hydraulic mechanism

IRl Ll z,,t’;

{,l

3. ¢

Bicycle gears
&% NS
E

Question Number : 23 Question Id : 9683553772 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



An individual’s relative fitness 1s measured by
SrBKE TS o ([Birndn oo SPaarde
farie b 28 @ —_

Options :

How well the individual relates to its environiment

éﬂgéémo&{’ g dor Eod PotHerd BendHRe

1. %
The health of the individual
B8 Bw¥) o8B KRS
2 % ol o )i
The number of its offspring that survive and reproduce
Loz ins®® Sogy EDohey Lodah (B
3.¢
The number of matings 1t achieves
SoG@rEHsne ﬁoa;g HOSS50
4. %

Question Number : 24 Question Id : 9683553773 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Aresearcher removes one cell from an embryo at the four cell stage. This cell develops into
a normal (though possibly smaller) embryo. The developmental pattern of the organism
from which this cell 1s removed would be classified as

B0t ¥hod 20 Ao whoid Ede® enth %m & od ¥ Eniint Sofodhib
Options :
A chimera

B



Determinate

Qo
2. % e

Indeterminate

E:S’Jusfﬁm
3.4

Question Number : 25 Question Id : 9683553774 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Vertebrate jaws most likely evolved from which structure?
HEZSToS® Ehde HBrdn IO Hod =BA%S

Options :

An expansion of the nasal passages
T =i Xood @ﬂéé%

1. %

The first gill arch

<08é &éﬁ; TR
2. ¢

Mesoderm

: ,..,. - 2 -
3.



The pharyngeal basket

(559 oS
4, ®

Question Number : 26 Question Id : 9683553775 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Marine fishes osmoregulate by
Do Dhos® (EorDdFBe (Xod abirbloreshn

Options :

Absorbing 1ons in sea water through their gills

Dhyen HEnEREER ecirIod Solirohe Jol

1. &
Eating prey with low salinities
SENS ©RBcHE EOAD LHod Lo
2. ®
Storing excess ions in swim bladder
G Armed® BN wdirSe Qer oty Hed
3. %
Drinking sea water and excreting ions across their gills
Sl 2ered (@rhe SHBdk edrdod DR oroe HdBoDHL Sl
4.

Question Number : 27 Question Id : 9683553776 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

A group of naturally or potentially interbreeding populations that are reproductively isolated
from other such groups 1s a defimition of

iR @09.335[_ e ;%‘véag,:éaa 0AS 2o Sdwdrn
£HoH 3% TowedH A0 deodkd.

R, (Dér$& D58 rdoiads
o S

Options :
A pre-zygotic 1solating mechanism
&0 Socin Bes DREE Do

1. %
The biological species concept
. £3 wrébe Hore IS
A ring species
2 oo Hodhaw
3. %
One of the Hardy-Weinberg equilibrium conditions
w"g = “"a-..:g "E‘%‘ LoofolS ¥ woddn
4. %

Question Number : 28 Question Id : 9683553777 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one is bath sponge .
& Bod TEE° 8 © 30 wotrdH

Options:

1. %



Sycon
=

_—'-.-p—l-g -.
[a =T ¥
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Chaline

05

Euspongia

m%ﬂ:oﬁdﬁﬁ
3.

Spongilla

Joder
4, %

Question Number : 29 Question Id : 9683553778 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Mutation in a gene 1s known to cause a severe developmental disorder but only when
transmutted through mother. This property of the mutations is likely due to

Eséaaéa‘?s SOR% 6 Bag¥ne Dol 8% @%{,’% Sotfen 8 ooe HolEfhohesh 2N
DNt

Options:
Complementation
HBHBE 23300 ($deTeedsin

1. %

Genomic imprinting

- esiy SSo(Bes



Uniparental disomy

o8 a0EEd TR (Perddn

Anticipation

Question Number : 30 Question Id : 9683553779 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A molecular marker, used in positional cloning, that can be amplified by PCR and is poly
morphic by length is known as

ﬁséﬁfﬁoﬁ choth exibhe 4d@rhof) PCRomoe Dot wy aideil 5%
3DohEne

Options :

Restriction fragment length polymorphism (RFLP)
DSTEEHE BPED A8%8% ¥ (RFLP)

Variable number of tandem repeats
w28 23y (Xosw
@ &

Microsatellites

T T B 0 L1
gy ed(iFen

Single nucleotide polymorphism

2% BB GhBE 250l
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Question Number : 31 Question Id : 9683553780 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following is a prerequisite for positional cloning approach?
&‘P% =008 [HB0d [F8ondd Enotdh ©dIEZRD HD?

Options :

The genomic structure of the gene
e3sor a@ coodd e:a?&x"“&im SeooE e

Cellular function of the gene
235y Q¥ Beo DHR BenoE b

Sub-chromosomal region linked with the phenotype

&) & B0 08 BHETTPRT ©boBotnds mméw BeonE e
3.¢

All of these
(SENY

 WNTEeD
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Question Number : 32 Question Id : 9683553781 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The major photochemical smog is
Erioothd (Dol ood SarahSdn

Options:



Hydrogen peroxide

7 E0S oE\E
1.% = o

Chlorofluorocarbon

LEXETE)
2. & '

Peroxyacetyl nitrate

od) 0B FBES

Question Number : 33 Question Id : 9683553782 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following salts 15 the main cause of permanent hardness of water?
¢ @¥) ThE L85G on D (e v

Options :

Magnesium sulphate

SiyRcho Sehed
1. ¢ >

Magnesium bicarbonate

s = P
oG ho D=
e, o el

3. %



Magnesium carbonate
DAphcho BNIES

Magnesium chloride

4% T lovic) 55@5

Question Number : 34 Question Id : 9683553783 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
In chick. the main function of Allantois is

=58 2o @5%%@5’5 R0 Tk wgrde

Options:
Respiration
Grglitows

S

Excretion

£9
2a
208,
2

2.

Digestion

. B58ap
3.

Shock absorption

288 SenERo
4, % = =



Question Number : 35 Question Id : 9683553784 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Hormone secreted by placenta at the time of parturition is

BHS 398 J200H0ZNE® sorcind DHSe Tohn ﬁ*-’-sﬁ;m

Options :
PI‘DgESTEI’DHE

Batsets

1. %

Estradiol
5‘.:@;?03::5

Relaxin

5@,&\IE

Lactogen

;E =
4. % &

Question Number : 36 Question Id : 9683553785 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Total number of barriers in primitive type of placenta is
EEEE worcingd EO0A Hoth J¥Swer A&

Options :

hn
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Question Number : 37 Question Id : 9683553786 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

During gastrulation in frog, the blastocoel

<H) E:om@éé@é’s rva@é&% 230D Hdoakos” Jdochnl Heskied¥
o

Options :
becomes the gut
©FE TREr Srdoeod

1. %

filled with mesoderm and disappears
SRS Doty nBakn Eosndihes

2. # b

displaced by the archenteron, which 1s a precursor to the gut

@FETE, e TS Sty Do
3. ¢

does not change. but develops into archenteron

L SEAT TS S, @5;050‘5W e



Question Number : 38 Question Id : 9683553787 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
XY sex chromosomes were discovered by:
XY S8oh¥ [EPudPpeoi Eoirdasss
Options :

M J D White

. MID3S

Nettil Stevans
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el
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Mendel
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Question Number : 39 Question Id : 9683553788 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In moth sex determination 1s of the type:

$ES° 29871 Dol doedes B%dw
[

Options :
. x XX-XO



, % XX-XY

IW-77

ZO-ZZ

Question Number : 40 Question Id : 9683553789 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Inan entity with genetic composition AA+XXY such as Drosophila will be a normal female,
In the case of mammals, it will be?

o ol (e hokd eobop(Eeiosly AA+XXY 408 é&ﬁwwﬁs gl NS
B0t
Options :
Turner
e85

\.
1. % =

Klinefelter

2. &

Normal female

- Fdo &

Normal male

. TFrdee HESHE



Question Number : 41 Question Id : 9683553790 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A stem cell refers to -

Sore Xorcen ©o&]
Options :

A cell only found in the stem of plants.
0¥ srodinE® SrEd oo 2% Yrdm

An unspecialized cell with the ability to create specialized cells
$8;%8 B %eoo, ey (DEES BOAS Beadorr &)t

A specialized cell that can only generate cells of the same type.
) 3“ & XA Loodn ©F BEDS Beredd Soel@ad adg Bo%nts

A cell that can only form cells of its kind

Ac
4w & Lo o Jonoholl Yol Ir@dh wd)f o

Question Number : 42 Question Id : 9683553791 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
5-bromouracil is the analog of which base?

5- (5°Rrcino=dS cdhods ¥OA doth T¥Em

Options:

1.4



Thymine

BOHDI

Guanine

=
mrdled
2. % o

Question Number : 43 Question Id : 9683553792 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Branch of biology dealing with study of fishes

2 TREw chod Dok Krdy Bend) TREw

Options :

Fishery

g
N

) % $B8

Toxicology

. &ﬁﬂ(&:‘é“ﬁ
2.

Ichthyology

aécﬁ:m‘:%
3.



Piscology

5
2.9,

Question Number : 44 Question Id : 9683553793 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ammocoete larva exhibits striking similarity with

E?ﬁéﬁ:ﬂﬁ oo, 3R&° Nowod DOGTTLOD 0N dotnod

Options :
Amphioxus
ZToTalovvilopts)

1.+ B
Herdmania
wiED L gy A

2 % oJ ?@ﬁw"...-..b"'ﬂ
Balanoglossus
BoFEHS

3. %

Myxine

N

Question Number : 45 Question Id : 9683553794 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Pearls are produced in an oyster by
©DOH) 3D K08 S0 B YHey atorhEood

y
Options :
Prismatic layer
BoRm &8 Erelehno

Nacreous layer

SBHT &Sk
2. ¥ e

Periostracum
DORED

Shell
553;5@:

Question Number : 46 Question Id : 9683553795 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Decision for division occurs i a cell at
S 1Bod D B¥S° Difad QBohSEn asoihEod
Options :

Starting of G1
Gl (B8ogidns®



End of G1
Gl 95888

Initial stage of prophase
(DL 88 [FEoisns®

End of telophase

©o&rES DIEE’
4. % &

Question Number : 47 Question Id : 9683553796 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
In transcription

OHSPRND ol
Options:

RNA 1s converted to DNA
RNA &oe 633}5::&: DNAr E'Eriﬁu:{éat:}

1. %

RNA moves out from nucleus to the ribosomes
RNA %88 Zo|8¥ wrii $8dvrethod BSRED BHd 3w

o

2. %

RNA changes from one form to the other

- RNA 2% 8rddn 08 8% Srddnsts Sredoe



RNA forms from DNA

DNA %08 RNA 28 %é
4. o

Question Number : 48 Question Id : 9683553797 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Cytochrome oxidase contains
REFED edTSen 0N BotH
Options :

Manganese
LToTat A

Iron
050

Magnesium
LB,
Shsacwo

Zinc

—
208

Question Number : 49 Question Id : 9683553798 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Frog’s egg is

X0y To¥) ®oldn
[+ %) [

Options :

Alecithal

Centrolecithal
oETPBDES

Isolecithal
DSOS

Telolecithal
Ly B BHES

Question Number : 50 Question Id : 9683553799 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Poisonous substance found in nematocysts of Hydra is

T GHodD B0k Lwrod® Hokh QRSEES

Options :
Hyponotoxin
B8\

1.¢



Haematin
SHES

Heparin

Eoad-vadats

Thrombin

laadelis

Question Number : 51 Question Id : 9683553800 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Protozoans with pseudopodia as locomotory organelles are
EJ:@*;&&E&J:@ Sororre ¥0A Hob Breterae étg £5e0

Options :
Ciliata
2OToer

Sarcodina
T &

2. %

Mastigophora

5‘&?%??553'55
3. W



Sporozoa
i"i:ﬁswam

Question Number : 52 Question Id : 9683553801 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Schizogony and schizont stage in the life history of malarial parasite occur in
£880%e Joe)dD €08 SEdns® RO HBc Jerot Ko IBE® wHIHD

Options :
RBCs and Liver cells of man

SRR A B Eereod® 8w =8k Errod
1.+

Erythrocytes only
A 8E Eerod® Sr(Ed

Stomach of Anopheles
eTdhol 88 %H=85ns®

Liver cells only

8% Erod® SnEh

Question Number : 53 Question Id : 9683553802 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Choanocytes in ascon type of canal system form the lining of

e ey “‘**“'"cﬁ" SErT T 30 BT ©d Hotrow.
Options:
Spongocoel

> "J@Dﬁ? 5880
’l. . i

Prosopyle
RS
2. % -
Apopyle
2838,
3. %
Incurrent canals
©osdo=irE Ser
4 %% (=] -

Question Number : 54 Question Id : 9683553803 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Bats can fly at night in the dark, because of
Koo HEEE® DB TEmdin Jd?

Options :
Strong vision
é&cﬁwﬁ Xo@ird



Strong olfaction

=1 o A
REEN Sy

Capability of Echolocation of obstacles
B850 vFodhe DB %“:ﬁ}éﬁg}n

3.¢¥
Capability of producing high frequency sound
&% Brlad 0 adg ;%éagaéw

4. % -

Question Number : 55 Question Id : 9683553804 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pharyngeal gill slits are found in
(IR Tooddy HO%en D chods FFHBoH

Options :
Cuttlefish
- =88 IR
Crayfish
= 9.5
2. % & P
Dogfish
. ==h 2%



Octopus

S
B elad
[

Question Number : 56 Question Id : 9683553805 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Kupffer cells in mammals are present in

5H8 e E¥mreod® IR dhode EOA Hothd

Options :
Liver

ocHhE®
1.9

Pancrease

3. % Eﬂﬁ"éx

Question Number : 57 Question Id : 9683553806 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The term that can be used for life cycle of Obelia 1s
2,905 £98 JES0sS Jo0doKd

Options :
Alternation of generation
DTosS Soeen

Neoteny
ol 23085

Metagenesis

3 @ DEFROR

Polymorphism

4 % DTVBTOEES

Question Number : 58 Question Id : 9683553807 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which structure helps in locomotion of the concerned animal
o SoSSnEE SHREKH €88 rrre ad KBodEn
Options :
Clitellum: earthworm

x E8go: TeREeED

2. %



Trichocysts: Paramecium
@ﬁi}?&w - oo

Posterior sucker: Hirudinaria
LESrLEe - EATRE

\;{2

Pedicellariae: starfish
DEDTBO@D> : D SEESE»

Question Number : 59 Question Id : 9683553808 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Frequency of a character or a mutant gene in a population is expected to increase if the
phenotype or its gene 1s
arerd m‘fa 88K Dohd &é},oﬁ cSvé Ernd A8 Wi Sends.

Options :

Dominant
m&mééé;éw

Favourably selected

% e Qﬁ)&ﬁ
2. ¥

Recessive

&Géé@ej“



Sex-linked

Dol Do
4, % e

Question Number : 60 Question Id : 9683553809 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Coelom in Balanoglossusis

Do ron Hokd F88 Lir8awn

Options :

Schizocoel

uFDS

Enterocoel

QoETHS

Pseudocoel
E.‘adﬁ; 850

Question Number : 61 Question Id : 9683553810 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Organic evolution would not have taken place if

X505 2508 ddn wdiidon aol

Options:

Individuals in a population did not show gene variations

e R e ohod wdy Do (HEYoSHED
L]
1.¢

Individuals did not transmit acquired characters to their offsprings

2ad %88 2o @Qé oftren JoEdols

Somatic variations did not get inherited

83% Idoren eDdodEdwrr SoEdoisy

Somatic variations got transformed intogenetic variations

83% 3dpgen Eraroddsn Tob 22y SO oo

Question Number : 62 Question Id : 9683553811 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Allopatric speciation is due to
o&°SHEE wdhe ad)S
Options :

Mutations

as 858
o) —



Geographical separation of populations

P20 S8 BAHDES s

Migration of members of a species from one to other populations
DS srere 53655_ DO

3. %
Hybridization between closely rekated species
dﬁ?_‘j& HDonoddn ¥0A% £he iy $0%0E8ed0
4. %

Question Number : 63 Question Id : 9683553812 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Neo-Lamarckism depends on
DX — o080 o8l Potnobd

Options :
Mutations and variations

adBidren DB DTy
1.¢¥

Only variations

=T i .\!54
SIoJTI®) 2d Eﬁ;‘“Lf_i D
Sz ol S

Enormous fertility

089 HoTHoBrdn
3. % 7 L



Mutation and natural selection
63)BIBNL0 B0 (HF)E DB

Question Number : 64 Question Id : 9683553813 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

H.J Muller was awarded Nobel prize for his
H.J $0p8% & Bod o0& o F5S 25508 ofodod

Options :

Discovery that chemicals can induce gene mutations

EFrchare (@80 o8 ey B8 Bsgmer KHoPNohdd Beodiicn Jel
1. %

Discovery that fonizing radiations can induce gene mutations

o@r3on HEGnln (R8n Sy akyd 48BS8mer So0dolER Boln Ho¥
2.

Work on gene mapping in Drosophila.
B chok ek DeLosE 88 Sy
3. %

Efforts to prevent use of nuclear weapons

©r0 8diogre BN Qardothis J® Eejﬁq DOSH0™

Question Number : 65 Question Id : 9683553814 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Genetic drift 1s effective only in population which are
&t Bod mmrzr choth ey DS @f¥E

Options :

Small
E’ﬁcl
1.+

Large

Mendelian
., DOBOSHS

Inhabitants of 1sland

) w éﬁ:&@ QEES

Question Number : 66 Question Id : 9683553815 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If a heterozygous tall plant 1s crossed with a homozygous dwarf plant, the proportions of
dwarf progeny will be
Dilehockoriyes R @), Sbciore S°E @) iy Sok £8%8min wbe 33633@' i

2. &



Question Number : 67 Question Id : 9683553816 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When a hybrid with genetic constitution RiTt s crossed with rtt, the phenotypic ratio of
offsprings will be
RiTt ey 56 2008 TOES m & Sokimin wBhEID A hekwe )5 e

o
nod)

Le>

Options :

9:3:3:

r__u
I'JJ
[a—

1:1:1:1

1:1

Tk
[a—

Question Number : 68 Question Id : 9683553817 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Genotypic ratio in F2 generation of a monohybrid cross will be

F2 8850 o) agdotten alyptrsd g
Options :

- L, |

1:1

1:2
3. %

4. v 1:2:1

Question Number : 69 Question Id : 9683553818 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A cross used to ascertain whether a dominant is homozygous or heterozygous is termed
D Yo%b¥smim oo ésﬁacﬁwﬁé& g :“D&iéacfwﬁé&aéw :J&“Erﬁléé:@éaoﬁ
Options:
Monohybrid

odP 0l :u*'uu
[ -

Reciprocal

DB Bo
2. % =



Back cross

- - I—l-nr

3.« U

Linkage cross

7

Question Number : 70 Question Id : 9683553819 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Test cross 1s a cross between
Q’Lég Lo¥8edn =& &CSD 200

Options :

F1 with dominant P
Fl 2288 P&°

1. %

F1 with recessive P

, v Fleodds P&°

F1 with dominant or recessive P

Fl 2%=8s% S wosds P&°
3, % N N

F1 mdividuals are not crossed

. w Fl 25 a&:c‘ég HoXBmaw estondsyth



Question Number : 71 Question Id : 9683553820 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which phenomenon of hereditary characters were not known to Mendel
& (Bod EE° 29 Dodd ©Bk0s ek Beodn

Options :

Linkage

"n":aiﬁa:ﬁclé

Assortment according to probability

a“%&i'% ;a’:::qréaé

Independent assortment
Bo|E Ry

Dominant and recessive traits

:.:sﬁ‘?ée‘:éé;éw SoBam Eoégéé;&o

Question Number : 72 Question Id : 9683553821 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Crossing-over causes
DOLochdn ©od

Options :



expression of recessive genes
@Déiﬁ}é 2y Li"“'{éécﬁw

synapsis between homologous chromosomes

Jerd EBreRtlne oy Ywond

recombination between linked genes

iy Eaéaaé;m y¥edo@read
3. ¥

linkage between dominant genes

mﬁréeﬁ 23059 2OLII0

Question Number : 73 Question Id : 9683553822 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The reserve i which the largest population of elephants 1s found in India
FEEREE0E Skl 0o LOAY HobEm So[Bsm QXS 3908

Options:
Kaziranga
.

- X280
Manas
SRR

2.



Dudhwa
o=
[«

Nanda dewvi

- Somrad
4. ®

Question Number : 74 Question Id : 9683553823 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Indian rhinoceros 1s the most important protected species in

888D D HBEn o e Lodgoth Solism
Options :

Gir national park
AB a=fich ZoBsm

Corbett national park
=515 0% Solgkmw

Bandipur national park

-

2085508 =80% ZolB¥5m

Kaziranga national park
X880 o8o% Bolsm

Question Number : 75 Question Id : 9683553824 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identify the correct match of a tiger reserve and the state in which it is located
QoW oY ol Hbakw oo B RBD® 28 80P
Options :
Corbett: Madhya Pradesh
=85 1 Lo HBE

1. %

Manas: Assam

LD @‘%j:]::n
2.

Palanau: Orissa

_ %@E;: o8

Bandipur: Tamilnadu

. 206508 : EQ¥=

Question Number : 76 Question Id : 9683553825 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Main reason for depletion of wildlife is

SgEreven wodbohiod gy cedredm
Options :
Falling of trees

1. ®



Nonavailability of drinking water
008 wohartnd® BEEHL
2. %

Destruction of natural habitats

Do eTrdand H805=Edne

Cannibalism

20y oit DT

Question Number : 77 Question Id : 9683553826 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A density protected animal in a national park can result into
©b% £Ho ol LOAS =hah SodStine HOSL0

Options :

Emigration
mﬁ%;ﬁéw oo Nabaey

1. %

Predation

HE Fes
2. % i

Mutualism

E‘ﬂﬁﬁé{_fgﬂﬁ 2ARSW



Intraspecific competition
TEr0SS 888
o7 T @

4. &

Question Number : 78 Question Id : 9683553827 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following biologists 1s given the credit for developing the concept of imprinting
in 19377
1937 Soné® O 5238 Snllin T FHoOTE

Options :
Karl Von Frisch

. =0 TaDR

John Romanes
=5 BP505

Niko Tinbergen

98 &S05S
|

Konard Lorenz

E"’Eﬁ*é & Bos
4, &

Question Number : 79 Question Id : 9683553828 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The building of a web by a spider i1s an example of
FTHGH Krth DEBohe BIE amesde

Options :

Fixed action pattern
(o Rintely
]

]

e

—
4
1

Releaser
. Dibdo Daboxs

Imprinting

S(&Ses
3. %

Leamed behaviour

ST® (HES
4, ®

Question Number : 80 Question Id : 9683553829 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The modification of a behaviour as a result of experience 1s called
B S EnE EHJ ooarey ey Ml beokd

Options :

Orientation
S)ﬁééé}:

2. &



Learning
E:iﬁgj&{’écﬁaﬁ::

Instinct
@éé%ﬁ
3, %

Intelligence
.
&)

4, %

Question Number : 81 Question Id : 9683553830 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a light compass response?

=0 B\ D0o¥d

e
[T

Options :

Geomagnetaxis

2o &?d&%&ﬂé Seoaeen
1. %

Hydrotaxis

220 SOFTEen

Menotaxis

8 Qe Soddo
3.¢¥ 7



Mnemotaxis

222 Jonod Sedo
4. % >

Question Number : 82 Question Id : 9683553831 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The experimental animal used by Pavlov for studying conditioned reflex was a
Hofe)d (Houe efdbiinth TS ad@rAols 29

Options :
Dog

%)
a

Rat

oen

Goose

Swofs

Frog
sl

4, #

Question Number : 83 Question Id : 9683553832 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The presence of high coliform counts in water indicates
2Dgr0 @Eﬂﬂ@ rden Dchoks QST 508 B8 Hozddn

Options :
Zooxanthellae

ST OBLT

1.4

Azotobactor

@ﬁ:ﬁéad“m

Paenibacillius

— v |
wﬁ; SRR

Rhizobia

. BE*Dcsm

Question Number : 84 Question Id : 9683553833 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following sets has all hermaphrodites?
& (Bod &S d S ) HER asoBirer LOAS EHe

Options :
Ascaris. Hydra. Earthworm
| x @O Srdve, T, SO



Hydra, Rat, Leech

(e, denk, mol

Tapeworm, Toad, Starfish
2GLord, BBERD), LESTDD

3. %
Leech. Earthworm. Tapeworm
yv e, TR0, DRPKo

Question Number : 85 Question Id : 9683553834 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Homologous chromosomes begin to repel during
SSoerd (B53rPoe DS D & choh eshrHEHod

Options :
Diplotene

., BeES

Diakinesis

Zygotene

ZTES
3. %



Leptotene
DPES

Question Number : 86 Question Id : 9683553835 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Tooth decay occurs when pH of mouth 1s
S0 Lomren H)PPe & pH 58 edoibdHos

Options :

Higher than 7.0

Lower than 6.5

6.5 Xoé&] “""’*é

Higher than 6.

0
6.0 %o& %3

Lower than 5.5
5.5 o0& & e.-au.:ﬂ

Question Number : 87 Question Id : 9683553836 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Few decades ago, DDT was used to kill mosquitoes. Later, in recent years, it became very

difficult to kill mosquitoes using DDT. which principle explains the immunity of mosquitoes
from DDT

) depine (B850 DDT éd@rhof) &desh Aaboibt 2888 DDTad@rhoibe
So% Shod® o NS Frr QE8%E% DSk D380y,

Options :

Theory of Natural Intervention

Dire ©I8°8X %m;oé&ﬁ:a
1. %

Theory of Immunity
SISl v %Jm;oééx

2. %

Predator-Prey Theory

Wl A S 2
== w2, Nm;‘:}f‘jﬂﬁ:'

3. %

Theory of Natural Selection

$5%)8=Ses i:m;oééw
4.

Question Number : 88 Question Id : 9683553837 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Amplexus 1s a process by which

FroRER ©oll Y4308

Options :

1. %



Female carries a male from a place to other
oiE HorED TB PBEE0ED ETITEHE

Male carries a female
K20 el EEHE

Male mounts on the back of female to stimulate it for oviposition

HKED SEE00 0HE Hod 3 280 Dh vorren H&e Do
3. ¥

Male dies after mating

502D JotG)kn $KB8 SOTFHe
4. %

Question Number : 89 Question Id : 9683553838 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

RQ is the ratio of volume/quantity of

RQ Densd S (Bod o% 5508 Jerdnod
: S 3
Options :

Co, evolved / O, used in respiration

Co,D8e | 0, DRETKED T=HB o

1. %

O,used / Co,evolved in respiration

O, “R)ﬁ:rnﬁo..:o / Co, 80 zRBch chod
2.

3. %



O,evolved / Co,used in respiration
0,080 / 0,00&Triridn T dBch chots

o~
G

Co_used / O, evolved in respiration

. Co, Q&= [ O, Q%8s T>HBadh chod
4. > : -

Question Number : 90 Question Id : 9683553839 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is not an example of Ectone?
& (Bob T8® HESTT =08 HB?

Options :
River bank

_— DOHBeFESD

Teak forest

GE o¥d
2.9

Mangroves

o8 edHen
3. %

Marshland
D88 5o

Question Number : 91 Question Id : 9683553840 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

High Biological Oxygen Demand (BOD) indicates?
©6% BOD ¥0A Hother GO &ridyod

Options :
High level of microbial pollution

@& 0% R rendrdo
1 J -l g ol

Low level of microbial pollution

©&e) R srensram
o o - -

Absence of microbial pollution

“éuﬁ,;’;f:é}a: :—-aou’.&;éw SX00e

Water 1s fully pure

i L &
I.'Jwb.l__wlba.l_:'nu 3e%)

Question Number : 92 Question Id : 9683553841 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the angle of vision for a normal healthy individual
Fordee S8R G Lol 5 oot Jotnod

Options :

60 degree

60 &fen
1.4



90 degree

- 90 &(hen

120 degree

120 &Ae
3. %

135 degree

135 &|fie
4. %

Question Number : 93 Question Id : 9683553842 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Echidna is a
DEGT HHd

Options :

Egg laying mammal

| 1o Deplsss

Pouch bearing mammal
, x Hof) XOAS A¥sdn

Insectivorous mamimnal
L w’:’. Sén ﬂzﬁﬁ“‘*
3. 3



Flying mammal

laYs a’:.wé.:@:

Question Number : 94 Question Id : 9683553843 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Paedogenesis refers to

ol et ey =¥
(=4

Options :
Origin of birth
BHo Hep¥
1. % P
Pedal ganglia formation
ol e 08 8K
2. %
Larva attaining sexual maturity
o*o= BoN¥ HBDES Tohes
3.¢
Tail reabsorption
&% H%: S8

Question Number : 95 Question Id : 9683553844 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Populations reproductively isolated and live in different habitat but occupy same territory
are known as

DiRe ©088 (JeRY 7 :‘ﬂioéaéw 5D dijo Srirdnt, PHed)s J588 fonly
£50% 3% Tk 0D e

Options :

Ecological isolation

@cé&b& HodimX Haz DN i-.i Qerddn
1.4 =

Ethological isolation

5 % Ldrhe Sorerdd

Temporal isolation

2. ¥ cmébien SedhdmenrT E;Jéﬁaj&é.:
3. %

Spatial isolation

""5 = :;:'wwD Ve

2 &8 Jonohodld ¥ woddw
4. %

Question Number : 96 Question Id : 9683553845 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following wavelength 1s associated with UV spectroscopy?
UV spectroscopy < (Eod $8oif 65 508 edorsin DA dotnod

Options :

0.8-500 m

1. %

2. &



400-100nm

380-750nm
3. %

0.01-10nm
4, %

Question Number : 97 Question Id : 9683553846 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pebrine. an epidemic disease in silkworm is caused by

203 o ©OLOTLE if.:pw H5eS Loddohind Spfela N
Options :

Lepisma sacchrina

Nosemabombycis

SR o
2. ¥

Myxidiumbergense

@aﬂ&ﬂoﬁ:oﬁgﬁ 503
3 E-

Eimeriasardinae

DB BET
4, %



Question Number : 98 Question Id : 9683553847 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The square root of the average will be equal to the squares of the individual observation
from their arithmetic mean

r
BabEE Hbdede eolgno Ent) éq:e.n & S k) fsf‘éfwwﬁ‘ﬁ IV

r

Options :

Standard error
ZrErdE &%%0

Standard deviation

S5eBE Ddeoto
2.

Chi square

B — S
3.8 & 4

Variance

SO
55:: =200

Question Number : 99 Question Id : 9683553848 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The extraordinary navigational ability of birds 1s due to
aﬁma@ée 800 OIS K8 eXdng &&gﬁm He o8dn

Options :



Compass sense, relaying on the sun, stars and earth magnet

Je8rth, Bflore B el wahamod &%md
1.¢ ¥ k& g 2

Altitude of the migrating land
SR &5 e AR erEBHHe

Inherited instinct
©HN08% Jrerddn

Accuracy and regulatory migration
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Question Number : 100 Question Id : 9683553849 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When chemical, transport. or mechanical work is done by an organism. what happens to the
heat generated?
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Options :

It 1s used to power yet more cellular work.
Zoo SGrod ad@rNolnthds

It 1s used to store energy as more ATP,

982 ATP ErH5ns® Qerothtnd SHdErNnk
2. .



It 1s used to generate ADP from nucleotide precursors.
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It 1s lost to the environment.
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